Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS18_Z45N_3 Plapr = (L =L ) [ w-L¥y)
Buntton: h*g = 40/360;h* ¢ = 227/360

arg=ar —aty -~ e [afy —a'y ]
= b*n = Fjape [b*w —b*y ]
Helligkeit L*T Crapa=la%a’ +b75’]
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

Zyslem:} R:LR_525724.61\*LN_0 Plapr = (L =L ) [ w-L¥y)
untton: "o = 33/3601°c = 2521360 gu. — ax — axy — e [ %y ~ ' ]

b*a=b* —b*N = *japr [b*w ~b*N ]

Helligkeit L*T Crapa=[as +br ] M

I




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS25_Z47N_N4 Plapr = (L =L ) [ w-L¥y)
Buntton: h*g = 40/360;h* ¢ = 246/360

arg=ar —afy =~y [atw —aty ]
b*a =b* = b*y = *japs [b*w —b*y ]

* % 2 2
Helligkeit L*T Craba=[a%” +b%’]

12




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS24_Z48N_N5 Plapr = (L =L ) [ w-L¥y)
Buntton: h*g = 39/360;h* ¢ = 246/360

arg=ar —afy =~y [atw —aty ]
b*a =b* = b*y = *japs [b*w —b*y ]

* % 2 2
Helligkeit L*T Craba=[a%” +b%’]

12




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS16_Z45F 3 Plapr = (L =L ) [ w-L¥y)
Buntton: h* = 38/360;h* ¢ = 230/360

arg=ar —afy =~y [atw —aty ]
b*a =b* = b*y = *japs [b*w —b*y ]

* % 2 2
Helligkeit L*T Craba=[a%” +b%’]

12

(C*apam
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS24_Z46F_NO Plapr = (L =L ) [ w-L¥y)
Buntton: h*g = 32/360;h* ¢ = 254/360

arg=ar —afy =~y [atw —aty ]
b*a =b* = b*y = *japs [b*w —b*y ]

* % 2 2
Helligkeit L*T Craba=[a%” +b%’]

12

(C*apam

e
Burtheit C*apa




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS21_Z47F_N4 g = (L =LA ) [ W =L )
Buntton: h*g = 39/360;h* ¢ = 247/360

arg=ar —afy =~y [atw —aty ]
b*a =b* = b*y = *japs [b*w —b*y ]

* % 2 2
Helligkeit L*T Craba=[a%” +b%’]

12

C*abam
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: R_LRS21_Z48F_N5 Plapr = (L =L ) [ w-L¥y)
Buntton: h*g = 40/360;h* ¢ = 247/360

arg=ar —afy =~y [atw —aty ]
b*a =b* = b*y = *japs [b*w —b*y ]

* % 2 2
Helligkeit L*T Craba=[a%” +b%’]

12

(C*abam
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